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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.

FIFTH SEMESTER
ELECTRONICS AND COMMUNICATION ENGINEERING

EC 1303 — MICROPROCESSORS AND
MICROCONTROLLERS

(REGULATIONS 2007)

Time : Three hours Maximum : 100 marks

Answer ALL questions.

PART A — (10 x 2 = 20 marks)
1.  What do you mean by machine cycle? Give two examples.
2. Describe the usage of demultiplexing in 8085.
3.  What do you mean by GPIB?
4. What is I*C standard?
5.  List the advantages of using segment registers in 8086.

6.  What is the maximum addressing capability of 8086?
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What is the need for watchdog timer?

Name the interrupts available in 8051.

Write any four hit addressable instructions of 8¢

How can you perform multiplication and divi
8051 microcontroller?

(@)

®)

(a)

®)

PART B — (5 x 16 = 80 marks)

(@) Draw the timing diagram for OUT in

(i) With necessary diagram explain the
structure of 8085.
\s’

Or

./

:Wﬁ\te 8085 assembly language program t

the follow:F?g ab '+ bc, where a, b, ¢, are 8

numbers. p‘lam with algorithm and flow

Explain ‘the operation of 8279 keyboar
interface with necessary block diagram.

Or

Describe how A/D conversion take place (s
diagram) and how it is being interfaced
microprocessor.

. C
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What are the various functional units of an 8086
processor? Explain in detail.

@

(i)

Or

Explain various addressing mode of 8086 with
suitable examples. ®

Write an 8086 assembly language program to
arrange the given set of numbers in ascending
order. L 8)

I

Explain in detail “how 8051 is interfaced with
external memory.

Or

N
Explain the architecture of 8051 micro controller
with functiond] block.

/ . E
Explain in detail the interfacing of stepper motor
! with 8051 microcontroller.

5

®

@i

t Or

Explain thé addressing modes of 8051 with
suitable éxamples. 8)

Write a program in 8051 that continuously
creating a square wave that has a high portion
of 1 me and a low portion of 0.5 ms. Assume
XTAL = 11.0592 MHz and use timer 1. ®





